MULTIPLICATION

FACT FLUENCY

MULTIPLYING BY MULTIPLES OF 10

LESSON 14




TODAY'S OBJECTIVE

Today we will multiply one-digit
whole humbers by multiples of 10.
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TAKE OUT YOUR
MATH JOURNALS
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. WATCH ME FIRST
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F WATCH ME FIRST

What are multiples of 10¢

Multiples of 10 are the result of multiplying 10 by any other
whole number.

EXAMPLE:

10/ x 1 21=120

whole number whole number Multiple of 10
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,i/'j WATCH ME FIRST
= [ Let’s see other multiples of 10. J

—

10x1 =10 10x /7 =70
10x2 =20 10x 8 =80
10x 3 =30 10x9 =90
10x4=40 10x10=100

10x5=50 10x11=110
10x6=60 10x12=12
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222 [ | want to find the product of 2 x 30. ]

—
2 x 30 is the same as
2 groups of 30

S0...2x30=60
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(- Did You.Know?

YThere are different ways to represent numbers.

~\

J

Standard Form ) 35
Place Value Form ) 3 'I'ens 5 OneS

Expanded Form — ) 30 + 5



g WATCH MEFIRST { | can also use basic multiplication ]

B facts to solve 2 x 30.
—

2 x301s the saome as 2 x 3 tens
X
:! There are 3 tens in 30. }

| know that2 x 3 =6 So... 2 x 3 tens = 6 tens = 60

N
oy,
-,

How does this work

with basic factse
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Now I'm going to do
another problem
with mulfiples of 10.

—



F WATCH ME FIRST
222 { | want to find the product of 3 x 50. ]
—

First, I'm going to write the multiple of 10 in place value form.

50 is the same as 5 tens

3x50=3x 5 tens
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ﬁ/‘j WATCH ME FIRST

Second, I'll use place value to find the product.




-

\_

What would happen if we
decomposed 3 x 50 Into

~

three factorse

—



“‘./':l WATCH ME FIRST

" There are a few ways to decompose A
3 x 50 into three factors. Let's look at
_ Oone example. y

;
3x50—-13x5x%x10
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g WATCH ME FIRST { Using 3 factors can make it ]

easier to multiply different numbers.
—

Watch how this works.

3 x50 =(3 x 5)x 10
15x10

Y
150
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F WATCH ME FIRST
242 { Now I'll group it a different way. ]
=

The product is still 150!

3x50=3 ><(5><]O)
\3><50}

Y
150
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@ Did You Know?

\/When mulfiplying, changing the grouping of A
three or more factors does not change the
product. This is called the associative property

\of multiplication. P

EXAMPLE

3 ><(5><]O) = (3 ><5)><]O
Sx30 15> 10

150 150
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\@ Let's Review!
g

We can use place value to solve multiples of 10 problems:

1t — Write the multiple of 10 in place value form.
2nd —  Use place value to find the product.

~

EXAMPLE: Find the product of 2 x 30

STEP 1

2x30=2x3tens
.

2x |

[EEuEEEEEEE|

STEP 2

2x3tens=6tens = 60

M

2 X

=
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(" )
f; LIZTr’?v%?KTogEITHER Find the product of 3 x 70.
\How could we begin solving this problem?e )
=

STEF Record in your journal
Write the multiple of 10 in Y J :

place value form.

3x/0=3x/tens
M

3 x|
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2. Problem #1 4
'-‘ LET'S WORK TOGETHER

The Simplified Math Curriculum™

.

What should we do nexie )
Record in your journal. )
=

Write the multiple of 10 in

place va

lue form.

Find the product.

3x70=3x7tens =21 tens =210

N

3 X

111}l

11}
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LET'S DO ONE MORE TOGETHER...
\ | r
. /

\




-

of 10.
\_

Now let’s solve a word
problem with multiples

~




2. Problem #2
Ta® [FT'S WORK TOGETHER

We are going to use a 4-step process to solve.

STEP 1: Think about the word problem.

STEP 2: Create an equation based on the problem.

STEP 3: Solve the equation.

STEP 4: Answer the word problem.
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.3, Problem #2 151 Think about the word problem

Za% LET’ S WORK TOGETHER

4 )
Ms. Davis has ? boxes of crayons. Each

box has 20 crayons. How many crayons

2
S does she haves )

\

DY :J What do the numbers represent?

J

\( What is this problem asking me to find?¢
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22, Problem #2  1sT: Think about the word problem

-

\_

Ms. Davis has 9 boxes of crayons. Each
box has 20 crayons. How many crayons
does she have?¢

~

J

'/ 20

# of boxes # of crayons
in each box




23, Problem #2 = 1sT: Think about the word problem

-

Ms. Davis has 9 boxes of crayons. Each
box has 20 crayons. How many crayons
does she havee

~

J

? 20 ?
# of boxes # of crayons Total number
in each box of crayons

What are we are frying to find?




2. Problem #2 d- .
@a® |ET'S WORK TOGETHER 2"<: Create an equahon

-

Ms. Davis has 9 boxes of crayons. Each
box has 20 crayons. How many crayons
does she havee

N

J

9 x 20 ?

# of boxes # of crayons Total number
in each box of crayons




2. Problem #2 d. o
Sa® LET'S WORK TOGETHER 3% Solve the equahon

4 )
Ms. Davis has ? boxes of crayons. Each
box has 20 crayons. How many crayons

2
S does she haves )

9x20=9x2tens =18 tens = 180
M

;@5— How can we solve the problem@




2. Problem #2 th.
2ss o e 4ih: Answer the word problem

4 )
Ms. Davis has ? boxes of crayons. Each

box has 20 crayons. How many crayons
does she havee

\_ /
9 X 20 — 1 80
# of boxes # of crayons Total number
in each box of crayons

o Ms. Davis has 180 crayons.

;@5 Finally, let’s answer in a complete sentence.

rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr




CHECK - IN

dWhat did you noticee

d Can you make a connection to
anything else you already know<e How?e

Do you have any guestionse
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] IT'S YOUR TURN
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Now It's “YOUR TURN” to Solve




Time to Discuss and
Check Your Answers

_j@: iHow did you solve it? ]



Problem #1

Find the product of 4 x 80. Show your work.
o\

N\

“
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Problem #1  Find the product of 4 x 80. Show your
work.

4x80=4x8tens=32tens =320
% \\\

“
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Problem #2

YOUR TURN

Sharon bought 9 bags of candy from the store.

Each bag had 60 pieces of candy. How many
pieces of candy does she have in all?

o\

N\

e

_——

=

/



Problem #2

YOUR TURN

Sharon bought 9 bags of candy from the store.

Each bag had 60 pieces of candy. How many
pieces of candy does she have in all?

9x60:9x§’rens:5_4’rens:540\\\
A —

=

There are 540 pieces of candy inall. [/

\



Problem #3

Find the product of 40 x 4. Show your work.
o\

N\

“
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Problem #3  Find the product of 40 x 4. Show your
work.

A0x4=41tensx4=16tens =160 \
. L

“
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Problem #4

YOUR TURN

Find the product of 3 x 60. Show your work.
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Problem #4  Find the product of 3 x 60. Show your
work.

3x60=3x6tens=181tens =180
U \\\

“
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FIoRiem #3

Maggie organized a trip for her family reunion. She rented 3

buses for her entire family to tour New York City. Each bus

holds 40 people. If each bus is filled, how many family

members can go on the tour? \
\

N\

e

_——

=

/



FIoRiem #3
Maggie organized a trip for her family reunion. She rented 3
buses for her entire family to tour New York City. Each bus
holds 40 people. If each bus is filled, how many family

members can go on the tour? \
\ \
3x40=3 x4 tens =12 tens = 120~
N —

120 family members can go on the tour. /



Problem #6

YOUR TURN

Chris says that (10 x 5) x 6 equals 300.
Using the associative property, write
another way to group the 3 fc:u:torsi N

- x x =300 -
/




Problem #6

YOUR TURN

Chris says that (10 x 5) x 6 equals 300.
Using the associative property, write
another way to group the 3 fcu:torsi N

e

10x (5x6) =300 -

=

/




's reflection timel
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